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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

Answer any seven out of ten.

Write full name of GTO, IGBT, STATCOMs, PV cell.
Write down function of chimney in thermal power station.
What do you mean by signal conditioner in power station?
Write about “fission” for nuclear power station.
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Draw any two circuit diagram of power electronics converters used in HVDC.

Define base load and peak load with graph.

Define Bilateral and linear network used in power station.

Draw generalized two port networks.

List various renewable sources of energy.

Write down function of “Ash Storage” in thermal power station.

List design criteria for thermal power plant.
OR
List selection criteria of hydro-electric power station.
List advantages of hydro-electric power station.
OR
List disadvantages of thermal power station.
List types of boiler and draw diagram for horizontal return tube boiler.
OR
Draw schematic diagram of hydro-electric power station.
Draw schematic diagram of nuclear power station.
OR
Write short note on solar PV power plants.

List advantages of HVAC system.
OR
List advantages of HVDC system.
List disadvantages of HVDC system.
OR
Draw typical power transmission scheme (line diagram).
Compare overhead transmission line and under-ground cables.

OR
For overhead transmission line make a list of (1) main parts (2) important
characteristics.
Explain nominal T-method for short transmission line with circuit.
OR
Explain nominal 7-method for short transmission line with vector.

Draw schematic diagram for bipolar HVDC system.
OR
Define: connected load, maximum load and Demand load.
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Explain on-load tap changing transformer.
OR
What is load curve in power station? Explain it with graph.
Draw structure of single line diagram of electrical power system and explain
any three block in detail.

What is power factor? Discuss it with power triangle and list various causes
of low power factor.

Explain voltage control by synchronous condenser with circuit.

Explain auto- transformer tap changing with circuit.

Classify different voltage control method and define voltage regulation.
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